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Define the term Strategy and Strategic Management. Briefly éxplain characteristics of

Strategic Manageme_nt. Discuss the important steps involved in strategic management
process. |

f 14
OR

(a) Define the term Vision, Mission, Objective and Goals in detail.

(b) Explain in detail the key elements in developing Mission and \fision Statement 7

Explain the Concept of Environment and Environmental analysis. DISCUSS components
of a company’ s external environment in detail.

OR

14

Explain in detail the following methods of _Organizatioﬁal Appraisal :
(a) Value Chain Analysis

(b) Balance Scorlecard

Strategic choice reférs to the decision which determines the future strategy of a firm. It

addresses the question * ‘Where shall we g0”. Justify the above statement by wntmg the
factors aﬂ‘ectlng the Process of Strategic Choice.

OR

14 .

3. "Answer the following questions :

() "Explain BCG matrix and list its advantages and disadvantages. | 7
(b) Explain in detail the components of the GE-McKinsey Matrix. . 7
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4. Explain any two from the following :

(a)

Difference between Strategic Control and Operational Control.

(b) Discuss the steps involved in Process of Strategic Control.

(2)

3)

(4)

3)
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(c) Evaluation Techniques for the Strategic Control
(d) Matrix Organization

3. MCQ:
(1) Strategic management audit is known as :

(a) Strategy control
(b) Policy formulation
(c)  Environmental scanning

(d) Strategy evaluatior_l

Which among the following principle is violated under the matrix structure ?

(a) Integration among diverse activities
(b)  Unity of Objective

(c) Centralized pIanniﬁg and budgeting
(d) Unity of C+|:)II_1mandj

Which of the following is not a tﬂae of strategic control ? ‘
(a) Premise control - (b) Specific alert control
(c)l Quality control * (d) Strateéic surveillance

Who has developed a foremen system in the functional organisation ?

(8) Henry Fayol (b) Peter Drucker
(¢). _ Fredrick Taylor (d) Max Weber

Which of the following is not an operating control system ?

(@)  Production control (b) Budgetary control
(c) Scheduling (d) Key success factors
6
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(6) Which of the following characteristic is not of vertical structure ?
- (a) Specialised tasks (b) Shared tasks
(¢) Emphasis on efficiency (d) Centralised decision making

(7) Which of the following characteristic is not of horizontal structure ?
(a) Flexible authority (b) Emphasis on learning

(c) Emphasis on efficiency (d) Decentralised decision making

(8) What is the aim of framing horizontal structure in the unit ?
(a) Co-ordination and co-operation
(b) Training and Development
(c) Toincrease productivity -
(d) Effective control

(9) Which is not an environmental barrier to the implementation of the strategy ?

(a) Politics . (b) Scarcity of natural resources

(c) Organisational values (d) - Social attitudes

(10) In the case of geographical expansion and market segmentation which type of
organisational structure i§ suitable ? |

(a) Functional structure (b) Matrix structure
(¢c) Divisional structure (d) Entrepreneurial structure

(11) Which of these is the simplest way to portray a corpor&tion’s portfolio of
investment ? |

(a) «~ Handoff’s Growth Matrix
(b) " ProductLife Cycle

(c) . SWOT Analysis .
(d) BCG Growth-Share Matrix

(12) is the foundation of blue ocean stratégy.
(a) Innovation (b) Valug‘ creation
(c) Value innovation (d) Value cost trade-off

P.T.O.
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(13) Which is not the stage of strategic management ?
(a) Analysis of Risk & Contfc_rl ' <o)
(b) Strategic Vision, Mission & Objectives

(c) - Strategic 'Ev'qlution' & Control |
(d) Environmental & Organizational Analys_is |

(d) 1985
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